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H1 Prelim Case Study Question 1 
a (i) Describe the trend in India’s food prices from 2012 to 2018 [2] 
  Food prices were generally increasing [1], with the increase slowing down 

from 2014 onwards [1] 
 

 

 (ii) What might Figure 1 and 2 suggest about the price elasticity of 
demand for food in India? 

[3] 

  Price elasticity of demand measures the degree of responsiveness of 
quantity demanded of a good to a change in its price, ceteris paribus  
 
The demand for food is likely to be price inelastic where the increase 
in price in Figure 1 led to a less than proportionate fall in quantity 
consumed. As a result, the increase in expenditure from an increase in 
price is greater than the loss in expenditure from a decrease in quantity 
demanded, leading to a rise in expenditure as seen in Figure 2.  
 
Award 1m for the identification of PED of food  
Award up to 2m for an explanation of the link between Price and TE using 
the concept of elasticity 
 

 

b  With the aid of a diagram, explain and comment on how a food 
subsidy might affect the consumers, producers and the government 
in India. 

[8] 

  A subsidy is a payment made by the government to producers to 
encourage the production of certain good and services, but not made in 
exchange for any goods or services. To analyse the impact on the various 
economic agents, we will look at expenditure for consumers, revenue for 
firms and government expenditure. 
 

 
Before government intervention, the initial equilibrium is at point E0, where 
DD0 intersects SS0, to give equilibrium price P0 and quantity Q0. A subsidy 
lowers the cost of selling food, therefore producers are willing to offer the 
more for sale at every price. This is represented by a downward shift of the 
supply curve, by the amount of the subsidy, from SS0 to SS1,  
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At the initial equilibrium price of P0, quantity demanded is Q0 and quantity 
supplied is Q2, resulting in a surplus of Q0Q2. Producers will lower the price 
in order to get rid of the surplus, which results in a rise in quantity 
demanded, and a fall in quantity supplied. This will continue until quantity 
demanded equals quantity supplied to arrive at a new equilibrium point of 
E1, with a lower equilibrium price P1 and a higher quantity Q1. 
 
Impact on Economics Agents 
Consumers’ expenditure decreases from 0P0E0Q0 to 0P1E1Q1. Due to the 
demand for food being price inelastic, the increase in expenditure from an 
increase in quantity (Q0AE1Q1) is less than the decrease in expenditure 
from a decrease in price (P1P0E0A), resulting in an overall fall in 
expenditure. 
 
Producers see an increase in overall revenue from 0P0E0Q0 to 0P2BQ1, 
which is the sum of consumers’ expenditure plus the subsidies from the 
government.  
 
The government will see an increase in government expenditure by the 
area P1P2BE1.  
 
Evaluation: 
The extent of the above changes on the various economic agents will 
depend on the relative price elasticity of demand and supply for food. The 
more price inelastic the demand/supply is, the greater the impact of the 
subsidy on the consumer/producer.  
  
Up to 1m for a well-labelled diagram 
 
Up to 3m for an explanation of the impact of subsidy on the market, this 
includes a demonstration of what subsidy is /its impact on the supply curve 
and equilibrium price and quantity via the adjustment process.  
 
Up to further 4m for a discussion of the impact on the various economic 
agents (including evaluative comments on the extent)  
  

c  In the light of rising inflationary pressure, discuss whether the Indian 
government should raise interest rates. 

[10]

   
Inflation is a sustained increase in the general price level of an economy, 
which can be either demand-pull or cost-push inflation. In India’s case, 
there are both demand-pull (Ext 2 Para 2 and 3: economic growth) and 
cost-push inflation (Ext 2 Para 1: rising food prices pushed India’s retail 
inflation to…).  
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An increase in interest rate addresses inflation in India 
When the government raises interest rates, consumers and producers will 
be affected.  
 
Consumers will consume less as a rise in interest rates means that the 
cost of borrowing has increased. With a higher cost of borrowing, 
consumers will borrow less. The returns from saving will also increase, 
resulting in a higher opportunity cost of consuming. Thus, consumers will 
reduce their consumption (C). Firms will also borrow less with a higher cost 
of borrowing as previously profitable investment projects might now be 
unprofitable, resulting in a fall in investment (I).  
 

 
 
A fall in C and I will lead to a fall in AD from AD0 to AD1. The fall in AD will 
create surpluses at existing general price level and hence, there will be an 
unplanned rise in inventories. Firms will reduce production and hire less 
factors of protection, such as labour. As a result, households’ income will 
fall and this decrease in purchasing power will result in a fall in 
consumption of other domestic goods and services. Hence there will be 
lower national income as output decreases further. As a result, there will 
be less inflationary pressure in the Indian economy, lowering the general 
price level from P0 to P1. 
 
Evaluation:  

• Contractionary Monetary Policy is easy to implement as the revision 
to interest can be announced by the central bank and effected with 
almost no time lag.  

 
• However, if Indian consumers and producers are optimistic about the 

economy outlook, a rise in interest rate might not discourage them 
from consuming and investing. This is likely given the growth of India 
in the last few years.  

 
• The effectiveness of the policy also depends on the proportion of AD 

that C and I take up. If C and I take up only a small proportion of AD, 
then the fall in GPL would not be substantial.  
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Increased interest rate may not address the inflation in India 
An increase in interest rate may raise business costs and producers may 
pass these increased costs to the consumers in the form of higher prices 
so as to maintain profitability. The more price inelastic the demand for the 
goods are (especially for raw materials, food, energy) the more likely it is 
for producers to pass on higher costs to consumers. In this case, not only 
will inflation not be solved, the consumers will be worse off with higher 
prices and falling material well-being than without government 
intervention.  
 
Furthermore, given that increases in food prices due to droughts (Ext 1 
Para 1) are also contributing to inflation, a contractionary monetary policy 
is unlikely to address this source of inflation.  
 
Evaluation 
• Inflation in India seems to be a result of both demand-pull as well as 

cost-push. In light of the different causes of inflation, raising interest 
rates, which essentially addresses demand-pull inflation, would not 
be sufficient to tackle inflation in India. 
 

• Complementary policy to address the cost-push inflation e.g. 
implement supply side policies to help deal with rising food prices. This 
could come in the form of subsidising R&D efforts to increase crop 
yield. With an increase in crop yield, it will increase the amount of 
crops produced with the same amount of land used, thus alleviating 
the inflationary pressures brought about by rising food prices. One 
drawback about supply-side policies would be that it takes time for 
R&D to see results. The results are also not guaranteed and also takes 
up government funding, which could have been spent on other areas 
of development. 

 
 

Conclusion 
To effectively address inflation in the country, the Indian government 
should implement a mixture of demand-management and supply-side 
policies to tackle the various sources of inflation. While the problem of food 
price inflation might be temporary, India’s growth projection (Ext 2, Para 
3), increased government spending, suggests that inflation may be more 
demand-pull and that would make demand-management policies the more 
critical of the 2 policies in controlling inflation. 
 
 
Level Descriptor Marks 

L3 A well-developed, balanced response on the use of 
interest rate as a policy tool to address inflation. 
Answers should include how a higher interest may 
lower AD and thus demand pull inflation, policy 

5-7m 
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limitation, as well as a recognition of the presence of 
cost-push inflation. Use of case materials expected.   

L2 An underdeveloped answer that explains how raising 
interest rates would tackle inflation  

3-4m 

L1 A vague, list- like answer on inflation or polices  1-2m 
 
Up to 3 marks can be awarded for a valid evaluative conclusion that 
examines the appropriateness of raising interest rates to tackle inflation in 
India with consideration for the root cause, possible trade-off (inequity 
since the burden of the increased interest could fall on the low income), 
nature of the economy and the suggestion of possible alternatives to 
address inflation in India.  
 

d (i) Explain how the activities mentioned in Extract 3 results in market 
failure. 

[6] 

  In Extract 3, the activities mentioned includes burning of wood and dung 
for energy needs, factory productions, use of vehicles and construction. All 
these activities result in market failure as they generate air pollutants. 
 
Market failure occurs when the free market fails to allocate resources in an 
efficient manner. 
 

 
When carrying out activities such as burning of wood for energy and use 
of vehicles, consumers only consider their marginal private cost (MPC) 
such as the cost of wood and petrol and the marginal private benefit (MPB) 
such as the utility derived from getting energy or the convenience of driving 
from one place to another. Market equilibrium occurs at MPC = MPC, 
where output is at Q.  
 
However, these actions generate negative externalities, costs borne by 
third parties who are not involved in the above-mentioned activities. The 
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above-mentioned activities generate air pollutants, resulting in lower air 
quality (Ext 3: highly polluted air). When the third parties inhale the 
polluted air, their health gets negatively affected and have to incur 
additional medical costs, which are the forms of marginal external cost 
(MEC) that they have to bear. The presence of MEC would cause marginal 
social cost (MSC) to diverge from marginal private cost (MPC). Assuming 
no positive externalities, MPB = marginal social benefit (MSB). Social 
equilibrium occurs where MSB = MSC, at output Q*.  
 
There is an overconsumption of QQ* units. The additional benefit of 
consuming QQ* units is Q*E1E0Q whereas the additional cost of 
consuming QQ* is Q*E1AQ, resulting in a welfare loss of area AE1E0. 
 
Up to 2m for the identification of the source of market failure with reference 
to the case materials (pollutants released generate negative externalities) 
 
Up to a further 4m for a clear analysis of how the market fails with a 
specific context (MSC>MPC, equilibrium output vs socially ideal output, 
deadweight loss identification)  
  

d (ii) Clearly explain why, if left to market forces, “air quality warning 
services” will not be provided. 

[4] 

   
Air quality warning services is likely to be a public good, which means that 
it is non-excludable and non-rivalrous in consumption. 
 
Air quality services is non-rivalrous - the usage of air quality warning 
services by one person will not diminish the availability of the service for 
another person and so the marginal cost of providing for an additional user 
is zero. Using the marginalist principle, good should be consumed up to 
MB=MC, and so effective price is zero price. But at zero price, no private 
producers would be willing and able to supply the good. 
 
Air quality warning services is non-excludable as it is impossible or 
extremely difficult to exclude someone from using the air quality warning 
services even if they do not pay for it, once it is produced. Thus, it leads to 
free rider problem for which there will be no effective demand for the good. 
 
With no expression of demand, there will be no production of the good as 
firms will not be able to price the good to cover the cost.   
 
1m for identification of public good  
 
3m for explanation of how public good characteristic results in non-
provision by the private market  
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e  Using evidence from the case study and your own knowledge, 
discuss whether the Indian government should adopt Singapore’s 
policies to improve air quality. 

[12]

  Industries, power stations and motor vehicles are main sources of pollution 
in Singapore (Ext 5 Para 1) somewhat similar to the sources of pollution in 
India due to energy needs, traffic exhaust and factory emissions in India 
(Ext 3 Para 3).  India could consider the use of the 2 policies used in 
Singapore, namely the setting of emissions standards and the imposition 
of carbon taxes.  
 
Body 1: Explain the working of the policies  
 
Measure 1: Emission standards 
Singapore “sets emission standards which have been progressively 
tightened over the years” (Ext 5 para 3).  
 
Setting of emission standards is a form of command and control policy. 
The government could influence consumers’ or firms’ behaviour through 
imposing regulations, which uses the law to compel certain actions to be 
taken by consumers or firms. In this case, emissions standards on 
automobiles and factories that emit polluting gasses directly controls the 
level of pollutants allowable, thereby limiting the externalities and the 
welfare loss as a result of these activities.  
 
 
Measure 2: Carbon tax 
A carbon tax (Ext 5 para 4) is a compulsory levy imposed on the production 
of the goods and services where the producer has to pay the government 
a fixed fee per unit of pollution (carbon) generated from the production.   
 
The implementation of a carbon tax will increase the marginal cost of 
production and makes the firms internalise the external costs. Rational 
firms will choose to lower pollution as long as the marginal private benefit 
of lowering pollution (avoidance of carbon tax) outweighs the marginal 
private costs of lowering pollution (e.gg. installing equipment or improved 
production process). By reducing the pollutants emitted the extent of 
negative impact on third party is reduced and hence there is reduced 
welfare loss. 
 
 
Body 2: Appropriateness for India 
(i) Effectiveness of outcome  
By setting emission standards, the government can guarantee the 
desired outcome as the total amount of pollution is determined by the 
government. Furthermore, emissions standards may stimulate the firms to 
undertake more innovation to reduce emissions to the maximum 
permissible level.  
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Since carbon tax is based on the amount of pollution generated, the firms 
have the incentive to actively find cleaner production methods or engage 
in R&D that allows them to reduce the amount of pollution tax it needs to 
pay. This lowers pollution and addressed the root cause of the problem.  
However, the government may not have perfect information on what 
MEC is. Thus, the amount of tax implemented might not be the most 
accurate amount.  
 
Carbon tax encourages the firms to lower the amount of carbon 
generated from their production processes in the least costly 
method, resulting in less externalities generated. The firms may be able 
to do so by developing methods that lowers the externality.  
 
Regulations using the emissions standards can be more effective i.e. 
with greater certainty of outcome than carbon taxes especially since 
carbon taxes is dependent on the producers’ responsiveness to the carbon 
tax. The less price elastic the demand for the product is, the more likely 
that the firms would pass on the increased cost to the consumers, 
rendering the carbon tax less effective at reducing the level of pollutants 
emitted. In the case of necessity, it is likely that increased in costs will be 
borne by the consumers. 
 
(ii) Costs of implementation and monitoring  
In order for emissions standard to be successful, the government must 
have the resources and capability to ensure compliance by 
consumers and firms. In the case of Singapore, it is relatively easier 
since it’s a small country, resulting in lower monitoring costs. In the case 
of India, it might be challenging as the country is much bigger, making 
it difficult to monitor every area effectively. The Indian government 
needs to incur high monitoring costs, and they may not have the required 
resources to effectively enforce the regulations (e.g. police force lacking 
manpower). This high costs of monitoring may outweigh the benefit of 
intervention, causing society to be worse off than in the free market 
outcome. 
 
Between emissions standard and carbon tax, the latter is probably 
costlier to implement and enforce since it requires the government to 
measure the pollution levels that arise from an additional unit of production 
and possibly levy different tax rates based on the types of pollutants.  
 
(iii) Unintended Consequences  
Both policies are likely to raise the cost of production for firms. In the case 
of emissions standards as factories have to spend on cleaner 
equipment/methods of production to meet the emissions standards. In the 
case of carbon taxes, the costs of emissions directly raise the cost of 
supplying the good. This may in turn translate into higher prices of other 
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goods and services for consumers. For example, if energy provider has to 
ensure cleaner energy is released with lower pollutants, there may be 
additional steps to filter the energy thereby raising energy prices for the 
producers of other goods.   
 
However, a carbon tax can lead to greater inequity. If the industry being 
taxed produces necessities, it would lead to a fall in the affordability of 
goods/services, particularly for the poor. This could be a huge problem in 
India as there is a greater proportion of the population that is living in 
poverty as compared to Singapore, as India is still a developing country. 
Also, it might worsen the cost-push inflation as prices of more goods and 
services also experience increased price due carbon taxes.  
 
Conclusion 
Apart from the difference in the nature of the country discussed earlier, 
which might pose some difficulties for the Indian government to adopt 
Singapore’s policies, a bigger consideration may be the source of the 
pollution. Ext 3 Para 3 suggest that the main source of pollution came from 
80% of the two-thirds of India’s population who rely on biomass for energy. 
The Indian government should target her policies at this primary source of 
pollution by subsidising cleaner energy production, building infrastructure 
needed such as piping to so that these households outside city also have 
access to energy without needing to burn biomass in the open. Although 
this will only effect in the longer run, in the meantime, the government may 
have to use carbon tax on factory emissions for revenue needed for the 
subsidy of clean energy.  
 
Level Descriptor Marks 

L3 A well-developed and balanced response that 
examines the strengths and limitations of the 2  
measures (adopted by Singapore) policies for India 

6-9m 

L2 An underdeveloped answer that explains how the 2 
measures adopted by Singapore can tackle market 
failure in India.   

3-5m 

L1 A vague description of the policies.  1-2m 
E Evaluative comment focusing on the suitability of the 

policies based on differences between India and 
Singapore e.g. source of pollution, nature of the 
economy/country. Suggestion of alternative policy  

1-3m 
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H1 Prelim Case Study Question 2 
 
(a) (i) Describe the relationship between global oil prices and the export 

value of Nigeria from 2000 – 2016 
 
There is a positive/direct relationship between global oil prices and 
export value from 2000 to 2013. [1] and an inverse relationship from 
2013 to 2016 [1] 
 
 

[2] 

    
 (ii) Account for the relationship observed above. 

 
The positive relationship from 2000 to 2013 is due to the high 
dependency (90% Extract 6) on oil as a source of export revenue for 
Nigeria. Hence, with a price inelastic demand, the rise in oil prices would 
have led to a less than proportionate fall in the quantity, giving rise to 
export revenue for Nigeria. [2] 
 
The inverse relationship from 2013 onwards might be due to the 
diversification of the Nigerian economy towards agriculture (Extract 6), 
thereby reducing the reliance on oil as a source of export revenue. Even 
when the price of oil decrease, Nigeria was able to generate higher 
revenue from other agricultural products exported  [2]. 

[4] 

   
(b) Explain the possible relationship between a country’s public debt and 

economic growth rate of a country?  
 
There might be an inverse relationship between public debt and economic 
growth. [1] The data in Table 2 from 2015 – 2016 in Nigeria and 2013 – 2016 
in South Africa, where public debt levels rose while economic growth slowed 
down. 
 
This inverse relationship could be explained by the crowding out effect. As 
the government increase her borrowing, the demand for loanable funds 
increases thus driving up interest rates in the private market. An increase in 
interest will increase opportunity cost of consumption and increase cost of 
borrowing. This will lower the C and I, thereby exerting a contractionary effect 
on the economy, slowing the economic growth. [3] 
 
OR  
 
With increasing public debt, consumer and business confidence might be 
reduced, reducing consumption due to lower expected future income and 
lowering firms’ expected rate of return and thus investment expenditure; this 
in turn leading to a slowdown (fall) in economic growth. [3] 
 
 
 
 
 
 

[4] 
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(c) (i) Compare the trend in GDP growth between Nigeria and South 
Africa from 2012 to 2017 
 
Both countries experienced a falling trend in real GDP growth [1] while 
GDP growth in South Africa remains positive throughout the period [1] 
 

[2] 

 (ii) With reference to Extract 7, how likely will the economic growth 
continue beyond 2017 for Nigeria? 
 
Candidate can make a prediction based on a combination of the 
following factors raised in Extract 7.  
 
Whether Nigeria continues to grow beyond 2017 depends on a mix of 
internal and external factors/ AD-AS factors:  
 
(a) Improving commodity prices 

If oil prices continue to rise, export revenue for Nigeria is expected 
to rise, increasing her AD and in turn sustaining the economic 
growth. This is likely to be significant given Nigeria’s reliance 
(Extract 7, Para 1) on oil exports.  

 
(b)  Success of her economic reform 

Economic reforms to restructure the Nigerian economy raises the 
efficiency and workings of institutions e.g. banking institutions, 
making it easier to do businesses. This can increase the expected 
rate of return for investment projects in Nigeria and in turn the level 
of investment expenditure, encouraging growth  

 
(c) Management of public debt  

With rising levels of public debt, investors’ confidence might be 
adversely affected, thereby limiting growth in Nigeria. Depending 
on how the Nigerian government finances the public debt, the 
outcome may be favourable or not. If the Nigerian government 
chooses to reduce debt level by reducing government spending, 
there will be a contractionary effect on the economy, stunting 
economic recovery. 
 

(d) Global interest rates rising  
A rise in foreign interest rate (Extract 7, Para 1) might affect the 
inflow of foreign direct investment into Nigeria as well as her 
exports, thereby slowing her growth.  However, economic growth 
might not continue if the rise of interest rate  

 
 
Award up to 2m for each argument raised in support of a position taken 
– growth or contraction.  
 

[4] 

(d) Discuss if the data is sufficient to conclude that standard of living in 
Nigeria has improved. 
 
Standard of living refers to refers to well-being of the residents in a country. 
There are two aspects - material and non-material well-being. Material well-
being can be measured by the quantity of goods and services consumed 
over a period of time, like a year. Non-material well-being is the intangible 

[7] 
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aspect and it relates to the quality of life, such as the environment, leisure 
and economic freedom. 
 
Data shows improvement in material SOL  
• Overall, Nigeria’s economy is larger from 2012 to 2017 (Table 2) in real 

terms despite the recession in 2016. This signifies that households are 
able to consume more goods and services across this time period across 
the same time period, improving the material SOL of Nigerians. 
 

• In addition, with the upgraded rail infrastructure (Extract 7, Para 3), 
consumers are better able to gain access to essential services and 
transportation. This suggests the improvement of the material SOL of 
Nigerians. 

 
Data might not be sufficient to conclude improved SOL in Nigeria 
 
• Data evident of a fall in the material SOL of Nigerians.  

The economic growth experienced might not be evenly distributed with 
the rising unemployment rate (Table 2). Hence, the improvement in 
material SOL might only be concentrated within certain groups of the 
population especially those working the oil industry. 

 
• Data does not reflect non-material SOL of Nigerians 

We cannot conclude that there is an overall improvement in the SOL of 
Nigerian without sufficient data on the non-material SOL. Essential data 
on the air pollution levels and stress level/leisure hours are not available 
for us to make an assessment/conclusion on the overall SOL of 
Nigerians. 

 
Conclusion: 
Hence, the data provided is only sufficient to determine a certain increase in 
material SOL but not a conclusive stance on the overall SOL of the Nigerian, 
given the lack of data on non-material SOL. 
 
Up to 4 marks for an interpretation and assessment of the data on the SOL 
of Nigerians having improved  
 
Up to a further 3 marks for possible insufficiency of data to suggest 
improvement in SOL (availability of data on non-material well-being, data 
pointing to possible lower material SOL)  
 
 

(e) Evaluate how “tighter monetary policies introduced in advanced 
economies” (Ext 6) will impact Nigeria’s and South Africa’s economic 
recovery. 
 
Approach 
Analysis of how a tighter monetary policy (rising interest rates) would affect 
the Nigerian and South African economies should be done through the 
outflow of hot money/FDI, decrease in business confidence with a possible 
decrease in ability for debt repayment and through exchange rates 
 
Thereafter, comparison between the impact of the rising interest rate is 
needed based on the nature of the economies and state of the economies 

[10] 
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Introduction 
A tighter monetary policy in developed economies such as the US is carried 
out by raising their domestic interest rates. While this might be done in US in 
a bid to rein in the possible inflationary pressure, the increase in global 
interest will have a contractionary effect on Nigeria and South African 
economies.  
 
Body 1: Tighter MP in developed economies impede economic recovery 
in Nigeria and South Africa 
(1) Tighter monetary policies in developed countries slows AD growth and 

thus slows down the economic recovery in Nigeria and South Africa  
 

The higher interest rates in the developed countries contracts their 
economy and may lower national income. Since imports is a function of 
income, a fall in income will reduce the level of imports, which could be 
export demand for Nigeria and South Africa.  
 
In addition, the FDI outflow may slow down as firms consolidate their 
operations and reduce overseas investment. This lower demand for 
Nigeria and South Africa’s exports contributes and Investment 
expenditure leading to the decline in AD.  
 
Overall, we can expect AD to fall/slowdown and in turn the slowdown 
of the economy recovery for both countries. 
 

(2) Tighter monetary policies in developed countries results in higher 
domestic interest rates in Nigeria and South Africa, slowing domestic 
expenditure and growth  
 
A tightening MP in developed countries in the form of higher interests will 
lead to an outflow of hot money from Nigeria and South Africa as 
investors are more willing to purchase assets in developed countries 
with lower risks. Hence, this reduces the supply of loanable funds in both 
Nigeria and South Africa, increasing the interest rates in both countries 
as well. 
 
This increases the cost of borrowing for both consumers and investors 
which raises the marginal cost for investments and projects will now be 
less profitable for firms, reducing the investment levels for both Nigeria 
and South Africa. On the other hand, consumers will find it more 
expensive to borrow for durable goods such as cars and household 
electronics, leading to the fall in consumption expenditure as well.  

 
(3) A rise in interest rate increases debt burden of the governments of 

Nigeria and S. Africa, limiting their ability to implement growth policies 
 
Instead of using tax revenues for government expenditure on essential 
goods and services, an increasing amount of tax revenue is now needed 
to pay off the higher interest. This limits the government’s ability to 
undertake expansionary fiscal policy to facilitate economic recovery.  

 
The fiscal debt burden for S. Africa (53.04%, Table 2) will increase more than 
that of Nigeria (16.16%, Table 2) given the higher public debt level. As such, 
the impact on S. Africa’s consumption, investment and government 
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expenditure might be more significant, resulting in a larger slowdown in its 
economic recovery. 
 
 
Body 2: Tighter MP in developed economies may not impact economic 
recovery in Nigeria and South Africa significantly 
 
(1) Tighter monetary policies in developed countries will lead to a 

deprecation of domestic currencies which boosts economic growth.  
 
With the outflow of hot money from Nigeria and South Africa, there will 
be a corresponding increase in supply of the Nigerian Naira and South 
African Rand  in the foreign exchange market.  Assuming that demand of 
the currencies remains constant, there will be a depreciation of the 
currencies with respect to foreign currencies (i.e. USD).  
 
Hence, exports will be relatively cheaper in USD, leading to an increase 
in demand for Nigerian and S. African exports. Similarly, imports will be 
relatively more expensive in Naira and Rand, leading to the fall in quantity 
demanded of imports. Assuming that demand for import is price elastic 
(PEDM > 1), net export value for both countries is expected to rise, leading 
to the rise in AD. This will strengthen the economic recovery for the 
economies. 

 
This will have a more significant impact on Nigerian as it is more 
dependent on the trade of oil (commonly priced in USD) relative to S. Africa 
for economic growth.  
 
(2) Potential inflow of FDI from China can sustain the economic recovery for 

both countries. 
 

With the Chinese OBOR investment for infrastructure in Nigeria (Extract 
7), we can expect an increase in investment expenditure for both 
countries. Hence, AD for Nigeria and S. Africa is expected to increase, 
possibly offsetting the slowdown of economic growth from the rise in 
interest rates. 
 

However, given the high levels of corruption in both countries (Extract 5, Para 
4 & Extract 7, Para 4), much of the FDI injected into the economy might not 
trickle down to the larger population. This might stifle the extent of increase 
of AD and NY from China’s FDI. 
 
Conclusion 
Higher interest rates might hamper economic recovery more in S. Africa 
relative to Nigeria. Given Nigeria’s extensive reliance on oil for export 
revenue, the depreciation of the Naira can outweigh the contractionary 
impact on consumption and investment expenditure. In addition, the high 
public debt level of S. Africa coupled with its structural bottlenecks might 
prove to a stumbling block for its economic growth and recovery. 
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Mark Scheme 
 
Level Descriptor Marks 
L3 A balanced and well-explained response that considers 

how tighter monetary policies can affect the economic 
recovery of both economies, supported by case 
evidence. 

5-7m 

L2 A brief 2-sided discussion of how tighter monetary 
policies can affect the economic recovery of both 
economies but lacks rigour and/or support by case 
evidence. 
 
Or  
 
A balanced discussion of how tighter monetary policy 
can affect one of the two countries (including  
unemployment and growth via inventory adjustment 
process) 

3 - 4m 

L1 A vague, list-like response on the possible effects of 
rising interest  

1-2m 

 
Up to 3 marks can be awarded for a valid evaluative conclusion; candidate 
may consider the relative impact on both countries or the criteria/condition 
of both countries which would make the impact severe (nature and state of 
the economies). To get the full credit, evaluative statement should be well-
substantiated and with case evidence. 
 

(f) In view of the rising public debt, discuss the appropriateness of various 
policies the South African government could adopt to achieve 
sustained and inclusive growth. 
 
Approach:  
Given that the question specifically stated ‘In view of rising public debt’, 
answers should consider the impact of rising public (fiscal) debt on the 
appropriateness of the policies, the S. African government can adopt. 
Candidates will need to discuss at least two policies explicitly making links to 
how these policies work to achieve sustained and inclusive growth. It will be 
essential that candidates take note of the structural issues S. Africa is facing, 
hence, the analysis of supply-side policies should be a primary measure. 
 
In discussing the appropriateness of these policies, candidates should also 
take note of the nature of the S. African economy and trade-offs which may 
incur. 
 
Introduction 
From Table 2, we notice that S. African economic growth remains positive 
but remains weak due to structural bottlenecks as well as a rising public debt 
level that might hinder economic growth. This means that aggregate demand 
(AD) and aggregate supply (AS) are rising but at a slower rate. The S. African 
government can aim to achieve sustained economic growth which is defined 
as non-inflationary growth where a country is able to achieve an increase in 
national output, yet able to keep the inflation rate low. It also can aim to 
achieve inclusive economic growth which is growth that is broad-based 
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across sectors and creates employment opportunities for the majority. 
Inclusive growth takes into consideration income distribution. 
 
Body – Supply Side Policy 
The S. African government may adopt supply-side policies to achieve 
sustained and inclusive economic growth. 
 
She could improve the quality of the education that is delivered across levels. 
With higher levels of literacy, the South Africans would be able to work on 
complex tasks or operate high tech capital equipment thereby increase 
productivity. With higher output per man hour, there would be reduced unit 
labour costs, shifting the horizontal AS down. Assuming no change in AD, 
the lower general price levels will induce higher consumption as well as 
export expenditure, reflected by a movement along the AD curve. This 
increases the real output, giving rise to actual growth.  
 
Although spending on improving education service is essentially a SS-side 
policy, in the short run, it will increase government expenditure. Government 
spending to engage teaching staff for the school, construction of new school 
facilities contributes to the aggregate demand and increase in real GDP.   
 
At the same time, the expansion of productive capacity in the country with 
the improved quality of the labour force also means that it raises the AS. At 
every price level, the output the economy can produce has now increased, 
potential growth.  Expansion of productive capacity is crucial for the economy 
as it allows for non-inflationary growth as AD rises.  
 
In addition to the sustained growth investment in the education and providing 
a relevant education for the population, there will be a higher possibility for 
the labour force to be gainfully employed. This increases their income level 
and a larger proportion of the population will be able to enjoy the fruits of S. 
Africa’s economic growth, thereby achieving inclusive growth. 
 
Evaluation of the use of SS-Side polices 

• The funding for establishing the education system will place a 
significant burden on the fiscal position of the government, possibly 
increasing its short run public debt levels further.  
 

• Nonetheless, this will be an important policy to implement as a weak 
education system has prevented a significant percentage of the S. 
African population from being gainfully employed (Extract 5, Para 4 & 
Table 2). Hence, it is essential that a formal, rigorous and recognised 
education system be establish in S. Africa, funded by the government. 
 

• Supply-side policy will have a significant lag time before the fruits of 
the policy can be seen. As such, we have to consider other policies 
as a stop gap measure in the short run to maintain sustained 
economic growth and improve inclusivity of income generation. 
 

Additional supply side policies that students can consider using: 
The S. African government can undertake anti-corruption measures to 
reduce the level of corruption in the country. By reducing the level of 
corruption, there might be an improvement in the business confidence, 
especially so for foreign investors. This will increase the expected rate of 
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returns for investors. As the MB of investment increases beyond the MC, 
investors will then increase their level of investment in S. Africa, boosting 
economic growth. 
 
Body: Demand-management policy  
Another policy that the S. African government can adopt is the expansionary 
monetary policy i.e. the reduction of interest rates 
 
The reduction of interest rates will reduce the cost of borrowing for both 
consumers and firms. Hence, consumers will find it cheaper to borrow to 
purchase consumer durable goods such as household appliances, 
increasing domestic consumption expenditure. Similarly, firms will find more 
capital investment projects to be more profitable given the lower cost of 
borrowing. This encourages them to increase their investment expenditure. 
Together, we expect AD and hence NY to increase. 
 
As there will be an unplanned fall in inventory stocks, firms will demand more 
factors of production (e.g. labour) in order to fulfil this shortfall. This increase 
in demand for labour can alleviate the high unemployment levels in S. Africa, 
increasing the income levels for the average households, creating the 
opportunity for wealth and income to be shared across the population. 
 
Evaluation of the use of demand management policy:  
While theoretically sound, rising global interest rates might hinder the extent 
to which the S. African central bank can raise interest rate. Hence, the 
contractionary impact from the rise in interest rate might hold greater sway 
relative to this expansionary monetary policy. 
 
In addition, the rising public debt level will be a major consideration for firms 
and consumers. The potential for a government default limits the interest rate 
sensitivity for both firms and consumers where they are less willing to invest 
and consume, reducing the effectiveness of the monetary policy. 
 
Alternative policy: 
Consider expansionary fiscal policies but this will have a severe limitation of 
funding this increase in government expenditure given the rising public debt 
levels. 
 
Conclusion 
Supply-side policies should be the primary policy that the S. African 
government should consider adopting to achieve sustained and inclusion 
growth. Major structural issues (high levels of corruption and low levels of 
education) is a stumbling block for sustained and inclusive economic growth 
in S. Africa. In addition, the rising public debt levels should be a cause of 
concern and should be address the soonest. While short run expansionary 
policies can be considered to achieve sustained growth, long run structural 
changes needs to be done in order to ensure the growth remains inclusive 
and sustained. 
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Mark Scheme  
 
Level Descriptor Marks 

L3 A well-developed discussion of at least 2 types of 
policies the South African government could adopt to 
achieve sustained and inclusive economic growth, and 
considers the state of the economy. Answer has to be 
well-supported by case evidence to obtain the max 9m.  
 

6-9 

L2 An underdeveloped explanation of the various policies 
the S. African government could adopt to achieve 
sustained and inclusive economic growth 
 
Or 
 
A robust explanation of how the policies can attain 
sustained growth.  

3-5 

L1 An answer that merely states/lists the likely polices 
the S. African government would consider to adopt 
with little to no linkage to sustained and/or inclusive 
growth. Answer may contain conceptual errors.  

1-2 

 
Up to a further 3 marks can be awarded for a valid evaluative 
comment/conclusion. This should focus on appropriateness of the policies 
suggested with reference to the state and nature of the S. African economy 
and the key economic issues that it is facing. 

 
 


